
ENG

FourReal® 90
Design by Studio Ocee

F
A

C
T

 
S

H
E

E
T

 
/

 
T

E
C

H
N

I
C

A
L

 
&

 
E

N
V

I
R

O
M

E
N

T
A

L
 

S
P

E
C

I
F

I
C

A
T

I
O

N



ENG

F
A

C
T

 
S

H
E

E
T

 
/

 
F

O
U

R
R

E
A

L
®

 
9

0
 

/
 

P
A

G
E

 
2

 

FourReal® 90
Design by Studio Ocee

VA R I AT I O N S

Angled legs (Integrated 

castors on two legs):

140 x 60 cm 

140 x 80 cm

160 x 80 cm

180 x 60 cm

180 x 80 cm 

200x100 cm 

 

A C C E S S O R I E S

Chair suspension  

Cable duct (aluminium)  

Linking device 

Room In Romm

Tray, Standing 

Acoustic Panels, standing

Electrical units 

Power cube 

Paper roll holder 

Table Trolley  

F R A M E  C O L O U R

TA B L E  T O P  F I N I S H E S

Product options

Mat Black

RAL 7021

Mat white

RAL 9010

Stone Grey

RAL 7039
Chrome

Explore the innovation of FourReal® 90 

– a foldable and aesthetically pleasing 

high table. Boasting clean lines and 

advanced engineering, it’s perfect for 

work areas where elevated seating is 

preferred. Effortlessly foldable, it’s a 

stylish solution for dynamic spaces.

White Laminate 

W980

White Decor 

W980

Light Grey Egger

U763 Laminate

Light Grey Egger

U763 Decor

Grey Egger

U732 Laminate

Grey Egger

U732 Decor

Warm Grey Arpa  

Fenix Nano 0718

Anthracite Arpa  

Fenix Nano 0724

Black Arpa  

Fenix Nano 0720

Black 

4023 Linoleum



ENG

F
A

C
T

 
S

H
E

E
T

 
/

 
F

O
U

R
R

E
A

L
®

 
9

0
 

/
 

P
A

G
E

 
3

 

TA B L E  T O P 

Decor: Chip board with  

decor laminate and  

ABS-edge. Thickness: 19 mm.  

Laminate: Chip board with 

high-pressure laminate  

or Fenix laminate and  

ABS-edge. Thickness 20 mm.  

Linoleum: Chip board with 

linoleum and ABS-edge. 

Thickness 21 mm. 

F R A M E ,  S T E E L

Powder coated steel frame. 

Legs: Ø32 x 2.5 mm, S235 

steel, EN 10305-3 F300C 

Beam: 80x50x1.5 mm RHS 

profile beam, S235 steel

 

Folding mechanism:  

Domex 355MC 

Gliders and gliders with  

integrated castors: LDPE

FA S T E N E R S 

Screw: 6,2x 16 mm  

Screw: M6x16, countersunk 

head, hexagon socket  

Screw: M6x16, button head, 

hexagon socket  

Screw: M10x30, button head, 

hexagon socket  

Hexagon nut: M10 with 

clamping  

Spring washer: 10x20 

 

W E I G H T

140 x 60 cm: 25,1 kg

140 x 80 cm: 30,2 kg.

160 x 80 cm: 30,5 kg.

180 x 60 cm: 27,5 kg.

180 x 80 cm: 27,5 kg. 

200x100 cm: 33,1 kg.  

 

Folded: H15 cm

C H A I R  S U S P E N S I O N

Maximum qty pr. size:  

140 x 60 cm: 4 set 

140 x 80 cm: 4 set   

160 x 80 cm:: 4 set

180 x 60 cm 6 set

180 x 80 cm: 6 set

200x100 cm: 6 set.

T E S T

EN 15372:2016 - L2 

C E R T I F I C AT I O N

Compliant with TSCA Title VI

Materials

Tecnical specif ications



FourReal® 90, 140 x 60  cm

FourReal® 90, 160 x 80 cm

FourReal® 90, 180 x 80 cm

FourReal® 90, 140 x 80 cm

FourReal® 90, 180 x 60 cm

FourReal® 90, 200 x 100 cm

ENG

F
A

C
T

 
S

H
E

E
T

 
/

 
F

O
U

R
R

E
A

L
®

 
9

0
 

/
 

P
A

G
E

 
4

 

Dimensions



ENG

F
A

C
T

 
S

H
E

E
T

 
/

 
F

O
U

R
R

E
A

L
®

 
9

0
 

/
 

P
A

G
E

 
5

 

Quality and environment

At Ocee & Four Design,  

we care about sustainability.  

We strive to reduce our 

impact by producing quality 

furniture in a sustainable 

manner. Find out more 

about our journey on 

Oceefour.com 

C O M PA N Y  

C E R T I F I C AT I O N S

ISO 9001

ISO 14001

FSC Chain of Custody 

(License Code:  

FSC-C161956) FISP Full  

Membership

WA R R A N T Y

Ocee & Four Design provides 

a 5-year warranty on all 

products within our price 

list. This warranty covers 

breakage and damage of 

products occurring because 

of deficient craftsmanship 

performance under normal 

use. The warranty shall lapse 

if the product shows signs of 

mishandling abuse or other 

physical damage. The war-

ranty does not cover those 

parts of the product which 

are exposed to abrasion 

during use.

I N S T R U C T I O N S

Assembly instructions can  

be found at our website.

M A I N T E N A N C E

Refer to our 

Maintenance Guide 

D I S A S S E M B LY  

&  R E C YC L I N G

Products should be disas-

sembled and separated into 

their components and  

materials before recycling. 

Most products can be disas-

sembled using hand tools. 

Metal parts are commonly 

recycled. Powder coated 

frames are treated with a 

paint classified as not dan-

gerous according to directive 

1999/45/EF. Wood can either 

be recycled or incinerated. 

Plastic shells can be recycled. 

Upholstery and veneer shells 

are not recyclable but can 

be disposed of through 

incineration. Processes for 

recycling vary so check with 

your waste management 

organisation. 

https://oceefour.com/sustainability/
https://fourdesign.dk/wp-content/uploads/2021/01/Maintenance_Guide.pdf

